1) A(=3, 4) and B(S, -2)

2) C(-7,-2) and D(- 9, 18)

3)E(8,25) and F(44,77)

4)G(13,12) and H(-5, 56)

5)I(~ 15,4) and J(32,- 98)

SOLUTIONS: Midpoint

o = B
X, = (-3);2r (5)
tm = 2
Xm =1
= Zile
m 2
EDEEY)
Ht 5
Xm = -21_6
Xy =-8
s
e (8)=i(44)
m 2
Xm = 52_2
Xm =26
o
m 2
=
Xm =4
L

m

ey

LT,
Xm = 5

Xm =8.5

_ (=15+(32)
i 7

e +y2

y m 2
_ @

2

Il

Il
W v

Ym
Ym

= y +yz
.Vm 2

_ (2+38)
e e

2
16
7

8

Vm
Ym

+ y.
y, = Y 2_!2
A @)EED)
T
102
2

51

Ym =
y

s m

Il

4 yl+y
ym 2

_ (2)+(56)
M o

2

oS
Voo
v, =34
ST
ym Xy 2
o (@)(E08)
xR 2
_ =9
Yo' =

M (1,3)

M (-8, 8)

M (26,51)

M (4,34)

M (8.5,— 47)



6)K(9,17) M(36,25)

7) P(=23,48) M( 54,-22)

8)R(16,-3) M(-4,8)
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